# Identities and Relations for Special Numbers and Polynomials: An Approach to Trigonometric Functions 

Neslihan Kilar ${ }^{\text {a }}$, Yilmaz Simsek ${ }^{\text {a }}$<br>${ }^{a}$ Department of Mathematics, Faculty of Science University of Akdeniz TR-07058 Antalya, Turkey


#### Abstract

In this paper, by using trigonometric functions and generating functions, identities and relations associated with special numbers and polynomials are derived. Relations among the combinatorial numbers, the Bernoulli polynomials, the Euler numbers, the Stirling numbers and others special numbers and polynomials are given.


## 1. Introduction

Recently, mathematicians and other scientists have studied special functions, special numbers and polynomials. The motivation of this paper is to give some identities, formulas and relations of special numbers and polynomials with the help of special functions including generating functions and trigonometric identities.

The following definitions, relations and notations are used throughout this paper. Let $\mathbb{N}=\{1,2,3, \ldots\}$, $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and $\mathbb{Z}$ denote the set of integers, $\mathbb{R}^{+}$denote the set of positive real numbers and $\mathbb{C}$ denote the set of complex numbers. For $n \in \mathbb{N},(\alpha)^{n}=\alpha(\alpha-1) \ldots(\alpha-n+1)=\binom{\alpha}{n} n!$. We assume that $0^{0}=1$ and $i^{2}=-1$.

Now we give some generating functions for very useful numbers and polynomials with their recurrence relations and other well-known properties.

Let $k \in \mathbb{Z}$. The Bernoulli polynomials of order $k$, are defined by means of the following generating function:

$$
\begin{equation*}
F_{B}(t, x ; k)=\left(\frac{t}{e^{t}-1}\right)^{k} e^{\chi t}=\sum_{n=0}^{\infty} B_{n}^{(k)}(x) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

where $|t|<2 \pi$ (cf. [9], [10], [18]; and the references therein).
We observe that $B_{n}^{(k)}(0)=B_{n}^{(k)}$, denoted the Bernoulli numbers of order $k$. The Bernoulli polynomials and numbers are given respectively by $B_{n}^{(1)}(x)=B_{n}(x)$ and $B_{n}(0)=B_{n}$ (cf. [5], [6], [7], [8], [9], [18]; and

[^0]the references therein). Similarly, the Euler polynomials of order $k$, are defined by means of the following generating function:
\[

$$
\begin{equation*}
F_{E}(t, x ; k)=\left(\frac{2}{e^{t}+1}\right)^{k} e^{\chi t}=\sum_{n=0}^{\infty} E_{n}^{(k)}(x) \frac{t^{n}}{n!}, \tag{2}
\end{equation*}
$$

\]

where $|t|<\pi$ (cf. [7], [9], [18]; and the references therein). We observe that $E_{n}^{(k)}(0)=E_{n}^{(k)}$, denoted the Euler numbers of order $k$. The Euler polynomials and numbers are given respectively by $E_{n}^{(1)}(x)=E_{n}(x)$ and $E_{n}(0)=E_{n}(c f$. [5], [7], [8], [9], [18]; and the references therein).

The $\lambda$-array polynomials $S_{k}^{n}(x ; \lambda)$ are defined by means of the following generating function:

$$
\begin{equation*}
F_{A}(t, x, k ; \lambda)=\frac{\left(\lambda e^{t}-1\right)^{k}}{k!} e^{x t}=\sum_{n=0}^{\infty} S_{k}^{n}(x ; \lambda) \frac{t^{n}}{n!} \tag{3}
\end{equation*}
$$

where $k \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}$. When $x=0$ and $\lambda=1$, we have the Stirling numbers of the second kind: $S(n, k)=S_{k}^{n}(0 ; 1)(c f$. [1], [4], [7], [13], [15]; and the references therein).

The numbers $y_{1}(n, k ; \lambda)$ are defined by means of the following generating function:

$$
\begin{equation*}
F_{y_{1}}(t, k ; \lambda)=\frac{1}{k!}\left(\lambda e^{t}+1\right)^{k}=\sum_{n=0}^{\infty} y_{1}(n, k ; \lambda) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

where $k \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}(c f$. [16]).
The second author [16, Eq-(28)] gave

$$
\begin{equation*}
E_{n}^{(-k)}=k!2^{-k} y_{1}(n, k ; 1) \tag{5}
\end{equation*}
$$

The numbers $y_{2}(n, k ; \lambda)$ are defined by means of the following generating function:

$$
\begin{equation*}
F_{y_{2}}(t, k ; \lambda)=\frac{1}{(2 k)!}\left(\lambda e^{t}+\lambda^{-1} e^{-t}+2\right)^{k}=\sum_{n=0}^{\infty} y_{2}(n, k ; \lambda) \frac{t^{n}}{n!}, \tag{6}
\end{equation*}
$$

where $k \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}(c f$. [16]).
The numbers $y_{3}(n, k ; \lambda ; a, b)$ are defined by means of the following generating function:

$$
\begin{equation*}
F_{y_{3}}(t, k ; \lambda ; a, b)=\frac{e^{b k t}}{k!}\left(\lambda e^{(a-b) t}+1\right)^{k}=\sum_{n=0}^{\infty} y_{3}(n, k ; \lambda ; a, b) \frac{t^{n}}{n!}, \tag{7}
\end{equation*}
$$

where $k \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}(c f$. [15]).
The central factorial numbers $T(n, k)$ (of the second kind) are defined by means of the following generating function:

$$
\begin{equation*}
F_{T}(t, k)=\frac{1}{(2 k)!}\left(e^{t}+e^{-t}-2\right)^{k}=\sum_{n=0}^{\infty} T(n, k) \frac{t^{2 n}}{(2 n)!} \tag{8}
\end{equation*}
$$

(cf. [3], [5], [14], [15], [16], [17]; and the references therein).

## 2. Identity including $\sin t$ function and array polynomials

In this section, by using generating function, functional equation and $\sin t$, we give an identity, including the array polynomials.

Theorem 2.1. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
S_{3 n}^{m}\left(-\frac{3 n}{2} ; 1\right)=\sum_{j=0}^{n} \sum_{k=0}^{m}(-1)^{j}\binom{m}{k} \frac{3^{m+j-k} n!}{(3 n)!} S_{j}^{k}\left(-\frac{j}{2} ; 1\right) S_{n-j}^{m-k}\left(\frac{j-n}{2} ; 1\right) .
$$

Proof. By combining (3) with the following well-known identity

$$
\begin{equation*}
(\sin t)^{3 n}=4^{-n} \sum_{j=0}^{n}(-1)^{n-j}\binom{n}{j}(3 \sin t)^{j}(\sin 3 t)^{n-j}, \tag{9}
\end{equation*}
$$

we have

$$
(3 n)!F_{A}\left(2 i t,-\frac{3 n}{2}, 3 n ; 1\right)=n!\sum_{j=0}^{n}(-1)^{j} 3^{j} F_{A}\left(2 i t,-\frac{j}{2}, j ; 1\right) F_{A}\left(6 i t,-\frac{n-j}{2}, n-j ; 1\right) .
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} S_{3 n}^{m}\left(-\frac{3 n}{2} ; 1\right)(2 i)^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{j=0}^{n}(-1)^{j} \sum_{k=0}^{m}\binom{m}{k} \frac{3^{m+j-k} n!}{(3 n)!} S_{j}^{k}\left(-\frac{j}{2} ; 1\right) S_{n-j}^{m-k}\left(\frac{j-n}{2} ; 1\right)(2 i)^{m} \frac{m^{m}}{m!} .
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

### 2.1. Identities and relations arised from De Moivre's formula and Euler identities

Here, we set $f_{n}(i t, x)=e^{\text {intxt. Applying the De Moivre's formula and the Euler identities to this function }}$ and using generating functions for the Bernoulli polynomials of order $-k$, the Euler numbers and polynomials of order $-k$, the Stirling numbers of the second kind, the array polynomials, the numbers $y_{1}(n, k ; \lambda)$, the numbers $y_{2}(n, k ; \lambda)$, the numbers $y_{3}(n, k ; \lambda ; a, b)$, and the central factorial numbers, we derive some formulas and relations.

By the aid of the De Moivre's formula and Euler identities, we have

$$
\begin{equation*}
f_{n}(i t, x)=\sum_{j=0}^{n}\binom{n}{j}(\cos t x)^{n-j}(i \sin t x)^{j} . \tag{10}
\end{equation*}
$$

(cf. [11]). Using (10), we have the following well-known identities:

$$
\begin{equation*}
\operatorname{Re}\left(f_{n}(i t, x)\right)=\sum_{l=0}^{\left[\frac{n}{2}\right]}(-1)^{l}\binom{n}{2 l}(\sin t x)^{2 l}(\cos t x)^{n-2 l} \tag{11}
\end{equation*}
$$

and

$$
\begin{equation*}
\operatorname{Im}\left(f_{n}(i t, x)\right)=\sum_{l=0}^{\left[\frac{n-1}{2}\right]}(-1)^{l}\binom{n}{2 l+1}(\sin t x)^{2 l+1}(\cos t x)^{n-2 l-1} \tag{12}
\end{equation*}
$$

(cf. [2], [11, Eq. (1.5)-(1.6)]).
By applying the Binomial theorem and (3) to the function $f_{n}(i t, x)$, we obtain

$$
f_{n}(i t, x)=\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{v} S(m, v) \frac{(i n t)^{m}}{m!} .
$$

By substituting the Taylor expansion of the function $f_{n}(i t, x)$ into the left-hand side of the above equation and comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the final equation, we have the following well-known identity for the Stirling numbers of the second kind:

$$
\begin{equation*}
x^{m}=\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) \tag{13}
\end{equation*}
$$

Theorem 2.2. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=x^{m} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{m-j}\binom{m-j}{k}(m)^{j} 2^{m-j} E_{m-j-k}^{(j-n)}\left(\frac{j-n}{2}\right) B_{k}^{(-j)}\left(-\frac{j}{2}\right) \tag{14}
\end{equation*}
$$

Proof. Combining (1), (2) and (10), we get the following functional equation:

$$
f_{n}(i t, x)=\sum_{j=0}^{n}\binom{n}{j}(i t x)^{j} F_{E}\left(2 i t x,-\frac{n-j}{2} ;-(n-j)\right) F_{B}\left(2 i t x,-\frac{j}{2} ;-j\right) .
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m} i^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{m-j}\binom{m-j}{k}(m)^{j} 2^{m-j} B_{k}^{(-j)}\left(-\frac{j}{2}\right) E_{m-j-k}^{(j-n)}\left(\frac{j-n}{2}\right) x^{m} i^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Integrating both sides of (14) from 0 to 1 with respect to $x$, and combining with following well-known the Cauchy numbers of the first kind (the Bernoulli numbers of the second kind)

$$
\begin{equation*}
b_{n}(0)=\int_{0}^{1}(x)^{\underline{n}} d x \tag{15}
\end{equation*}
$$

(cf. [5], [12]), we arrive at the following corollary:
Corollary 2.1. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{1}{m+1} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{m-j}\binom{m-j}{k}(m)^{j} 2^{m-j} E_{m-j-k}^{(j-n)}\left(\frac{j-n}{2}\right) B_{k}^{(-j)}\left(-\frac{j}{2}\right) .
$$

Theorem 2.3. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=2^{m-n} n!x^{m} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} y_{1}(k, n-j ; 1) S_{j}^{m-k}\left(-\frac{n}{2} ; 1\right) . \tag{16}
\end{equation*}
$$

Proof. Combining (3), (4) and (10), we get the following functional equation:

$$
f_{n}(i t, x)=2^{-n} n!\sum_{j=0}^{n} F_{y_{1}}(2 i t x, n-j ; 1) F_{A}\left(2 i t x,-\frac{n}{2}, j ; 1\right) .
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m} i^{m} \frac{t^{m}}{m!}=n!\sum_{m=0}^{\infty} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} 2^{m-n} y_{1}(k, n-j ; 1) S_{j}^{m-k}\left(-\frac{n}{2} ; 1\right) x^{m} i^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Integrating both sides of (16) from 0 to 1 with respect to $x$, and combining with (15), we arrive at the following corollary:

Corollary 2.2. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{2^{m-n} n!}{m+1} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} y_{1}(k, n-j ; 1) S_{j}^{m-k}\left(-\frac{n}{2} ; 1\right) .
$$

Combining (5) with (16), we arrive at the following theorem:
Theorem 2.4. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=x^{m} \sum_{j=0}^{n}\binom{n}{j} j!2^{m-j} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(j-n)} S_{j}^{m-k}\left(-\frac{n}{2} ; 1\right) \tag{17}
\end{equation*}
$$

Integrating both sides of (17) from 0 to 1 with respect to $x$, and combining with (15), we arrive at the following corollary:

Corollary 2.3. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{1}{m+1} \sum_{j=0}^{n}\binom{n}{j} j!2^{m-j} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(j-n)} S_{j}^{m-k}\left(-\frac{n}{2} ; 1\right)
$$

Theorem 2.5. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=x^{m} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{m}\binom{m}{l} \frac{j!(2 k)!(-1)^{n-j-k}}{2^{j+k+l-m}} S_{j}^{m-l}\left(-\frac{j}{2} ; 1\right) y_{2}(l, k ; 1) . \tag{18}
\end{equation*}
$$

Proof. Combining (3), (6) and (10), we get the following functional equation:

$$
f_{n}(i t, x)=\sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \frac{j!(-2)^{n-j-k}(2 k)!}{2^{n}} F_{A}\left(2 i t x,-\frac{j}{2}, j ; 1\right) F_{y_{2}}(i t x, k ; 1)
$$

By using the above functional equation, we obtain

$$
\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m} i^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{m}\binom{m}{l} \frac{j!(2 k)!(-1)^{n-j-k}}{2^{j+k+l-m}} S_{j}^{m-l}\left(-\frac{j}{2} ; 1\right) y_{2}(l, k ; 1) x^{m} i^{m} \frac{t^{m}}{m!} .
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Integrating both sides of (18) from 0 to 1 with respect to $x$, and combining with (15), we arrive at the following corollary:
Corollary 2.4. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{1}{m+1} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{m}\binom{m}{l} \frac{j!(2 k)!(-1)^{n-j-k}}{2^{j+k+l-m}} S_{j}^{m-l}\left(-\frac{j}{2} ; 1\right) y_{2}(l, k ; 1) .
$$

Theorem 2.6. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=2^{m-n} n!x^{m} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} y_{3}\left(k, n-j ; 1 ; \frac{1}{2}, \frac{-1}{2}\right) S_{j}^{m-k}\left(-\frac{j}{2} ; 1\right) . \tag{19}
\end{equation*}
$$

Proof. Combining (3), (7) and (10), we get the following functional equation:

$$
f_{n}(i t, x)=2^{-n} n!\sum_{j=0}^{n} F_{y_{3}}\left(2 i t x, n-j ; 1 ; \frac{1}{2}, \frac{-1}{2}\right) F_{A}\left(2 i t x,-\frac{j}{2}, j ; 1\right) .
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m} i^{m} \frac{t^{m}}{m!}=n!\sum_{m=0}^{\infty} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} 2^{m-n} y_{3}\left(k, n-j ; 1 ; \frac{1}{2}, \frac{-1}{2}\right) S_{j}^{m-k}\left(-\frac{j}{2} ; 1\right) x^{m} i^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{n}}{m!}$ on both sides of the above equation, after some elementary calculations we arrive at the desired result.

Integrating both sides of (19) from 0 to 1 with respect to $x$, and combining with (15), we arrive at the following corollary:
Corollary 2.5. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{2^{m-n} n!}{m+1} \sum_{j=0}^{n} \sum_{k=0}^{m}\binom{m}{k} y_{3}\left(k, n-j ; 1 ; \frac{1}{2}, \frac{-1}{2}\right) S_{j}^{m-k}\left(-\frac{j}{2} ; 1\right)
$$

Theorem 2.7. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\sum_{v=0}^{m}(x)^{\underline{v}} S(m, v) n^{m}=x^{m} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{\left[\frac{m}{2}\right]}\binom{m}{2 l} \frac{j!(2 k)!}{2^{j+k+2 l-m}} S_{j}^{m-2 l}\left(\frac{-j}{2} ; 1\right) T(l, k) \tag{20}
\end{equation*}
$$

Proof. Combining (3), (8) and (10), we get the following functional equation:

$$
f_{n}(i t, x)=\sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \frac{j!(2 k)!}{2^{j+k}} F_{A}\left(2 i t x,-\frac{j}{2}, j ; 1\right) F_{T}(i t x, k) .
$$

By using the above functional equation, we have

$$
\sum_{m=0}^{\infty} \sum_{v=0}^{m}(x)^{v} S(m, v) n^{m} i^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{\left[\frac{m}{2}\right]}\binom{m}{2 l} \frac{j!(2 k)!}{2^{j+k+2 l-m}} S_{j}^{m-2 l}\left(-\frac{j}{2} ; 1\right) T(l, k) x^{m} i^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Integrating both sides of (20) from 0 to 1 with respect to $x$, and combining with (15), we arrive at the following corollary:
Corollary 2.6. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
\sum_{v=0}^{m} b_{v}(0) S(m, v) n^{m}=\frac{1}{m+1} \sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{n-j}\binom{n-j}{k} \sum_{l=0}^{\left[\frac{m}{2}\right]}\binom{m}{2 l} \frac{j!(2 k)!}{2^{j+k+2 l-m}} S_{j}^{m-2 l}\left(\frac{-j}{2} ; 1\right) T(l, k) .
$$

Theorem 2.8. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
E_{m}^{(-1)}\left(-\frac{1}{2}\right)=n^{-m} \sum_{l=0}^{\left[\frac{n}{2}\right]}\binom{n}{2 l} \frac{(2 l)!}{4^{l}} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(2 l-n)} S_{2 l}^{m-k}\left(-\frac{n}{2} ; 1\right) .
$$

Proof. Combining (2), (3) and (11), we get the following functional equation:

$$
\operatorname{Re}\left(f_{n}(i t, x)\right)=\sum_{l=0}^{\left[\frac{n}{2}\right]}\binom{n}{2 l} \frac{(2 l)!}{4^{l}} F_{A}\left(2 i t x,-\frac{n}{2}, 2 l ; 1\right) F_{E}(2 i t x, 0 ;-(n-2 l))
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} E_{m}^{(-1)}\left(-\frac{1}{2}\right)(2 i x)^{m} n^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{l=0}^{\left[\frac{n}{2}\right]}\binom{n}{2 l} \frac{(2 l)!}{4^{l}} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(2 l-n)} S_{2 l}^{m-k}\left(-\frac{n}{2} ; 1\right)(2 i x)^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Theorem 2.9. Let $n, m \in \mathbb{N}_{0}$. Then we have

$$
S_{1}^{m}\left(-\frac{1}{2} ; 1\right)=n^{-m} \sum_{l=0}^{\left[\frac{n-1}{2}\right]}\binom{n}{2 l+1} \frac{(2 l+1)!}{4^{l}} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(2 l+1-n)} S_{2 l+1}^{m-k}\left(-\frac{n}{2} ; 1\right)
$$

Proof. Combining (2), (3) and (12), we get the following functional equation:

$$
\operatorname{Im}\left(f_{n}(i t, x)\right)=\sum_{l=0}^{\left[\frac{n-1}{2}\right]}(-1)^{l}\binom{n}{2 l+1} \frac{(2 l+1)!}{(2 i)^{2 l+1}} F_{A}\left(2 i t x,-\frac{n}{2}, 2 l+1 ; 1\right) F_{E}(2 i t x, 0 ;-(n-(2 l+1)))
$$

By using the above functional equation, we get

$$
\sum_{m=0}^{\infty} S_{1}^{m}\left(-\frac{1}{2} ; 1\right)(2 i x)^{m} n^{m} \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{l=0}^{\left[\frac{n-1}{2}\right]}\binom{n}{2 l+1} \frac{(2 l+1)!}{4^{l}} \sum_{k=0}^{m}\binom{m}{k} E_{k}^{(2 l+1-n)} S_{2 l+1}^{m-k}\left(-\frac{n}{2}\right)(2 i x)^{m} \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, after some elementary calculations, we arrive at the desired result.

Acknowledgement. The authors would like to thank to the referees for their valuable comments.

## References

[1] A. Bayad, Y. Simsek, H. M. Srivastava, Some array type polynomials associated with special numbers and polynomials, Applied Mathematics and Computation 244 (2014) 149-157.
[2] A. T. Benjamin, L. Ericksen, P. Jayawant, M. Shattuck, Combinatorial trigonometry with Chebyshev polynomials, Journal of Statistical Planning and Inference 140(8) (2010) 2157-2160.
[3] P. L. Butzer, K. Schmidt, E. L. Stark, L. Vogt, Central factorial numbers, their main properties and some applications, Numerical Functional Analysis and Optimization 10(5) (1989) 419-488.
[4] N. P. Cakic, G. V. Milovanovic, On generalized Stirling numbers and polynomials, Mathematica Balkanica (N.S.) 18 (2004) 241-248.
[5] L. Comtet, Advanced Combinatorics, D. Reidel Publication Company, Dordrecht-Holland,1974.
[6] E. Y. Deeba, D. M. Rodriguez, Bernoulli numbers and trigonometric functions, International Journal of Mathematical Education in Science and Technology 21(2) (1990) 275-282.
[7] G. B. Djordjevic, G.V. Milovanovic, Special classes of polynomials, University of Nis, Faculty of Technology Leskovac, 2014.
[8] T. Kim, C. S. Ryoo, Some Identities for Euler and Bernoulli Polynomials and Their Zeros, Axioms 7(3) 56 (2018) 1-19.
[9] Y. L. Luke, The Special Functions and Their Approximations, Volume I, Academic Press, New York, 1969.
[10] Q-M. Luo, H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, Applied Mathematics and Computation 217 (2011) 5702-5728.
[11] T. J. Rivlin, The Chebyshev Polynomials, John Wiley \& Sons Inc, New York, 1974.
[12] S. Roman, The Umbral Calculus, Dover Publications Incorporated, New York, 2005.
[13] Y. Simsek, Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their applications, Fixed Point Theory and Applications 87 (2013) 343-1355.
[14] Y. Simsek, Special numbers on analytic functions, Applied Mathematics 5 (2014) 1091-1098.
[15] Y. Simsek, Computation methods for combinatorial sums and Euler-type numbers related to new families of numbers, Mathematical Methods in the Applied Sciences 40(7) (2016) 2347-2361.
[16] Y. Simsek, New families of special numbers for computing negative order Euler numbers and related numbers and polynomials, Applicable Analysis and Discrete Mathematics 12 (2018) 1-35.
[17] H. M. Srivastava, G-D. Liu, Some identities and congruences involving a certain family of numbers. Russian Journal of Mathematical Physics 16 (2009) 536-542.
[18] H. M. Srivastava, J. Choi, Zeta and $q$-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, 2012.


[^0]:    2010 Mathematics Subject Classification. 05A15, 11B68, 11B73, 26C05, 40C10.
    Keywords. Bernoulli numbers and polynomials, Euler numbers and polynomials, Stirling numbers, Combinatorial numbers.
    Received: 21 January 2019; Revised: 08 March 2019; Accepted: 11 March 2019
    Communicated by Miodrag Spalević
    This article is dedicated to Professor Gradimir V. Milovanovic on the Occasion of his 70th anniversary. The paper was supported by Scientific Research Project Administration of Akdeniz University with Project Number: FKA-2019-4385.

    Email addresses: neslihankilar@gmail.com (Neslihan Kilar), ysimsek@akdeniz. edu.tr (Yilmaz Simsek)

